U6D3 Domain Algebraically.notebook

HW 6.2 Answers
1. D: {1,0,3,-4,7}
R: {9,8,0,-7}

Yes
2. D: {11,-6,7,9}

4. D: {blue, purple, red, green}
R: {2, 1}

Yes
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1 {(1,9).(0.8),(3,0), (-4.9).(7.-7}

doman 11,0,3, -4, 7}

2. {(11,3),(-6,5),(7.-1),(9,7).(7.3)}
bomai:_{ 11,0, 7, 9

range: 19,8,0,-7}

Ronges_33,8,1,7}

Function? 1J€S

Function? _1O

3. Graphat below;

Damnmzf'ﬁ -1,0,1,2,3}

Renge: 1-3,-2,0,1,2}

>

From the mapping below:

voman: { bllie, purple, red green}

rarges 12,1}

R: {3,5,-1,7}

No

3. D: {-3,-1,0,1,2,3}
R: {3,-2,0,1,2}
Yes
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Find the Domain and Range for each graph.
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Filln the missing information:
Tnterval Notation Set-Builder Notation Nurmber Line Graph
(12) Ixl-14 x4 23 O Y

-1 1

Fo,3]or (7,9)  xixs-30rx>71 «,4,9_9,»

3.5) {X[34x45

(’ 5;q] x1-5<x<9)
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Warm-Up: Find the domain, range, increasing, decreasing, relative min &
relative max for number 2 on the warm-up sheet.

2 A
: inc : (0,)

> dec (20,0)
min = (0,~4)

e
£ B

q

MRV,

N
o-4)
7

Domain : (= 09 ,003

Range : [ , 0 )
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Algebraically - 3 problem types

1. Variable in the Denominator
To Solve: Set Denominator = 0
Domain Looks Like: x #

3
le: y= k :
Example: y T2x_5) Sketch
2x-50 x=+ %_
X * S/a_
2. Variable Under a Radical
To Solve: Radicand > 0

Domain Looks Like: x 2 orx<
Example: y=y2x-5 Sketch:

2x-9=0
(S
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3. "Double Trouble" - Variable Under a Radical in the Denominator
To Solve: Radicand >0 v
Domain Looks Like: x> orx«<

3
Example: y=—— Sketch:
V2x-5

w\F #’q howe o
2><——5 >C Vo mble 1n +ha
5 Gminator yeo will
X 2 /Z wore than hbely heve am
4, No Trouble > Nothing to Solve

Domain looks like (-, ) or x € R

asymptete on your oy eph

For each of the following,

a. State the type of trouble.

b. Find the domain algebraically.
c. Sketch the graph.

X

boYez

. vanabl (n o .
Qﬂoﬂnh‘\{bf‘

b. Y—Z:O d
Y : 2 X#Z
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Example: y=2x-5 Sketch:
<"v<3\ob)
Jan 4-8:08 PM
2. y:m A
. \Vaciablo _urder
_ﬂ\.( f(o‘ncfgl 72,8 X
b q 'Z’(Z O d.
4 -4
A=
_2 ”
X£2
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2
x-1

a. AO(AL)L 'I‘/O«L:L@ c.

4. y=

b. )(‘I>O d.

x>
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b. (—oﬁ!ob) d.
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5. \/:L

X' -4
. variable .\ the .

Aencminater

b. X? _q =0 d
(x2):0 (x+3:0
X :,z ¥ 2.
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Y 3-x

a c

b d
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